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Solve each absolute value equation below. Show all steps and circle your answer.
Make sure you check both of your solutions with the original equations.

1. |x+4|=3 @ 2. |6~x{=9

A4=3 or Aty=-3 -4 =9 or b-x:-9
K==l ov /?L:.'-Ty'- “4E3 o S
’X:'?) el a(=—!5'

3. |x+12|=8 4. |2x+6|=14
X+1p=For xtir=-% dntb= 14 or Qo{*é-’"kf
N=-4 or #=-30 IN= § or 2K = -0

AA-_-_L-' 4('.-.-10
!/X: -19,H &

5. |x-10/+4=14 6.  [2x-4|+6=9

-0l = 10 l2g-4]= 3  (Ceiz]
K=o =10 or N-10=-10 y-4=3 or Jd('q:"s
X=30 or K=O . S

A i er .1
X=3z

.+
A=
CiT

7. 6+]-x-5=9 8.  [2x+9|-15=36
[-x-51=3 lanta| = 5|
“%-5:3 or -A-5z-3 Qp+ys &1 or Qu49:-5 |
HEG g KR Inz4%  or  2pF 6O
X=-8 o M- Xzl or 730

(=]




9. 2x+1-1=9
Aanl =10
sk = 5
Rl 5 oy AA)=-T

A4 or nt-b

N= by H

1. 10+Px+1|=24

[3anl =14
Fgt =14 or Ixtl -1

3z I3 er 3Ix= IS

/)("‘-,-,_-b§ el ’X:'t"

o -3
= 5‘) 3

13 2P3x-7|+2=4
2|2x- 7 = >
Rx-#]= |

In-F:t er 3x-7= -
In=8 or 2y={

oo s

15, 2x+3]-3==3

2|n+3) =0
fxn13)= Q {Case.‘ﬂ_‘?
H+4 = O
] (‘ﬂ -3

10.  3|x~7+5=17
2|w-2) =1

tf-:rse_II’

M-F =M oor =F =4

[re-3) =4

N=Il or mn=z2 3

2. |2-5x]-8=5
|g_5&|; 12 ((‘oee.l?rl
-5 =13 or Q2-5x=-13
-Sx=N  oF &g = -5

= '% ar M= 2

K= "5 ,3

4. 3[dx+1Y-2=7

2HYpen] = 7
}’144"[; 3
Yy ) =3 oF Yp+Hz -2
Hys - or oy = =1y
Nz - o Nz
=

16.  3|x-35j+15=12

B}fx-s}: -3

[r-5] =-|
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